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Question Number : 1 Question Id : 6154754743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (D
Options:

51547518501, 1
61547518502, 2
61547518502, 3
E1547518504. 4

Question Number : 1 Question Id : 6154754743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547518501, 1
E1547518502. 2
51547518503, 3
51547518504, 4

Question Number : 2 Question Id : 6154754744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorials

Select your answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options:



E1547518505. 1
61547518506, 2
61547518507, 3
61547518508, 4

Question Number : 2 Question Id : 6154754744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547518505, 1
61547518506, 2
61547518507, 3
615475158508, 4

Question Number : 3 Question Id : 6154754745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options:

51547518505, 1
61547518510, 2
615475158511, =
E1547518512. 4



Question Number : 3 Question Id : 6154754745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547518505, 1
61547518510, 2
615475158511, =
E154751851Z2. 4

Question Number : 4 Question Id : 6154754746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

E1547518513. 1
51547518514, 2
51547518515 3
615475158516, 4

Question Number : 4 Question Id : 6154754746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

515475185121
61547518514, 2
£1547518515. 3
E1547518516. 4

Question Number : 5 Question Id : 6154754747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

61547518517, 1
E15475185158. 2
E1547518519. 2
B1547518520. 4

Question Number : 5 Question Id : 6154754747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o187 o AT ST T SR 39T E

(1)  SE/3ENA F SAFEG T (2) Toreawr =1 =t "=
(3)  sAfeFy wftomaT w1 3EAE wE (4) TE | TENATE T SR 2
Options:

61547518517, 1
615475185158, 2
E15475185149. 3
E1547518520. 4

Question Number : 6 Question Id : 6154754748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1)  (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options:



E1547518521. 1
B1547518522 2
61547518523, 3
61547518524, 4

Question Number : 6 Question Id : 6154754748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547518521. 1
B1547518522. 2
61547518523, 3
61547518524, 4

Question Number : 7 Question Id : 6154754749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options:

615475185251
61547518526, 2
E1547518527. 3
E1547518528. 4

Question Number : 7 Question |d : 6154754749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547518526. 2
B1547518527. 3
61547518528, 4

Question Number : 8 Question Id : 6154754750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem, defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarables, hypothesizing. testing of research and reporting of

research outcomes

Options:

61547518529, 1
61547518520 2
61547518521, 5
61547518522 4

Question Number : 8 Question Id : 6154754750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547518529, 1
E1547518520. 2
61547518521,
61547518532 4

Question Number : 9 Question Id : 6154754751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

E1547518533. 1
E1547518534. 2
51547518535, 3
61547518536, 4

Question Number : 9 Question Id : 6154754751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547518533. 1
E1547518534. 2
51547518535, 3
61547518536, 4

Question Number : 10 Question Id : 6154754752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

61547518537, 1
E1547518538. 2
E1547518539. 3
515475158540, 4

Question Number : 10 Question Id : 6154754752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547518537, 1
61547518538, 2
E1547518539. 3
E1547518540. 4

Question Number : 11 Question Id : 6154754753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

51547518541, 1
61547518542 2
615475158542, 3
61547515544, 4

Question Number : 11 Question Id : 6154754753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547518541, 1
61547518542 2
615475158542, 3
61547515544, 4

Question Number : 12 Question Id : 6154754754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3) teaching—learning process (4) management strategies



Options:

51547518545, 1
61547518546 2
E1547518547. 2
61547518548, 4

Question Number : 12 Question Id : 6154754754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547518545. 1
E154751854E. 2
61547518547, 3
5154751585458, 4

Question Number : 13 Question Id : 6154754755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

51547518549 1
61547518550, 2
61547518551, 2
615475158552 4

Question Number : 13 Question Id : 6154754755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547518549. 1
E1547518550. 2
51547518551, 3
51547518552, 4

Question Number : 14 Question Id : 6154754756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (a). (c) and (e) (4) (d). (e) and (D
Options:

51547518553, 1
61547518554, 2
61547518555, 3
E1547518556. 4

Question Number : 14 Question Id : 6154754756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547518553, 1
61547518554, 2
615475158555, 3
E1547518556. 4

Question Number : 15 Question Id : 6154754757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear defimitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s falze

(4) (A) 1s false. but (R) 1s true

Options:
15475185571

E1547518558. 2
E1547518559. 2
61547518560, 4

Question Number : 15 Question Id : 6154754757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547518557. 1
61547518558, 2
51547518555, 3
61547518560, 4

Question Number : 16 Question Id : 6154754758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options:

E1547518561. 1
E1547518562. 2
B1547518563. 3
51547518564, 4

Question Number : 16 Question Id : 6154754758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547518561, 1
61547518562, 2
61547518562, 3
E1547518564. 4

Question Number : 17 Question Id : 6154754759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547518565, 1
61547518566, 2
E1547518567. 3



E1547518568. 4

Question Number : 17 Question Id : 6154754759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£1547518565. 1
61547518566 2
1547518567 2
51547518565 4

Question Number : 18 Question Id : 6154754760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

H HPU =9, JNU =9, then DI7 =7

(1) 5 (2) 6
(3) 4 4 7
Options:

E154751856%9. 1
E1547518570. 2
E1547518571. 3
B1547518572. 4

Question Number : 18 Question Id : 6154754760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

aff HPU =90, JNU=90, @i DU= 7

(1) 5 (2) 6
(3) 4 & 7
Options:

E154751856%9. 1
61547518570, 2
61547518571, 3
E154751857Z2. 4

Question Number : 19 Question Id : 6154754761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) 53
(3) 63 (4) &3
Options:

615475185721
61547518574, 2
E1547518575. 3
E1547518576. 4

Question Number : 19 Question Id : 6154754761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TET 4@ § e JEAT HiA H 2 7

3. 13, 43, 53, 63, 83

(1) 13 2y 53
(3) 63 (4) 83
Options:

515475185731
61547518574, 2
61547518575, 3
E1547518576. 4

Question Number : 20 Question Id : 6154754762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of money with compound interest becomes Rs. 2,400 1n one vear and Rs. 3,000 1in two
yvears. Find out the principal amount.

(1) Rs. 1,900 {(2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options:

B1547518577. 1
B1547518578. 2
61547518575, 3
61547518580 4

Question Number : 20 Question Id : 6154754762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



B

T YA TG AT % WY UH g9 § 2400 F, 310 2 99 § 3000 F. ® Al £ goIaT 74

e
-

(1) 1900 =. (2) 1910 %,
(3) 1915 %, (4) 1920 =.
Options:

E1547518577. 1
E1547518578. 2
61547518575, 3
61547518580, 4

Question Number : 21 Question Id : 6154754763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

61547518581, 1
61547518582, 2
E1547518583. 3
E1547518584. 4

Question Number : 21 Question Id : 6154754763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“TRTE" Ieg Efetae wHn § e detad 27

(1) P (2) IFAH
(3) ElIEER L] (4) IuaH
Options:

E1547518581. 1
B1547518582. 2
51547518583, 3
615475158584, 4

Question Number : 22 Question Id : 6154754764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
3 Sub contrary (4) Subaltern
Options:

E1547518585. 1
51547518586, 2
61547518587, 3
61547518588, 4

Question Number : 22 Question Id : 6154754764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547518585, 1
61547518586, 2
E1547518587. 3
E1547518588. 4

Question Number : 23 Question Id : 6154754765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

51547518589, 1
61547518530, 2
£1547518531. 3
E1547518552. 4

Question Number : 23 Question Id : 6154754765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =rff (2) =9
(3) T (4) A
Options:

51547518589, 1
61547518530, 2
615475158531, 3
E15475185392. 4

Question Number : 24 Question Id : 6154754766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All tigers are animals™. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umversal Affirmative
Options:

E15475185593. 1
61547518554, 2
615475185385 3
E15475185396. 4

Question Number : 24 Question Id : 6154754766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o 2 =\ r ey
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(1)  fagm fuy (2) foum fag=
(3)  =EYm fmy (4) TEYE fEm
Options:

£1547518593. 1
6154751585394, 2
E15475185385. 3
51547518596, 4

Question Number : 25 Question Id : 6154754767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

615475185397, 1
615475185398, 2
E154751859%9. 3
E1547518600. 4

Question Number : 25 Question Id : 6154754767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“=ET U U9] #| 374: U 931 g8 UF 991 99 21” F AT Hi G THam 27

(1) =@ (2) Teawdt =g
(3) A (4) @R I
Options:

615475185397, 1
E15475185958. 2
E15475185949. 23
51547518600, 4

Sub-Section Number: 2
Sub-Section Id: 615475212
Question Shuffling Allowed : Yes

Question Id : 6154754768 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154754769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15.000 (2) 20,000
(3) 45,000 (4) 60,000
Options:

61547518601, 1
E154751860Z. 2
E1547518603. 3
51547518604, 4

Question Number : 27 Question Id : 6154754770 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales 1n
2001 1s

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

61547518605, 1
615475186086, 2
E1547518607. 3
E1547518608. 4

Question Number : 28 Question Id : 6154754771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

£154751860%9. 1
E1547518610. 2
E1547518611. 3
BE1547518612. 4

Question Number : 29 Question Id : 6154754772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475186131
615475158614, 2
615475158615, 3
E154751861E. 4

Question Number : 30 Question Id : 6154754773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (40 HCL
Options:

61547518617, 1
615475186158, 2
E15475186148. 3
E1547518620. 4

Question Id : 6154754768 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension



e : w9 9T 26 § 30

e afetl ® 99 2001 H 2007 F 27 50 fafus TR 51991 575 & Fog0 1 ol w1 39 =
2| 31 & TR W 9vT HEA (26-30) 1 I S0
s U Tt TR S e i Hen (FEE )

; FAH H TFR
2001 20 40 50 30
2002 30 25 b0 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154754769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

61547518601, 1
E1547518602. 2
51547518603, 3
51547518604, 4

Question Number : 27 Question Id : 6154754770 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

aF 2001 ° £ fefi 1 o1 °§ 99 2007 H wHE Foger it fEfi 5 fa wfaea f gfg g2 27

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

E1547518605. 1
E1547518606. 2
615475186807, 3
E15475158608. 4



Question Number : 28 Question Id : 6154754771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 FH T TR FAET TT5 T f9hi = A9 TG 6 20 ATTwa T

(1) =M (2) A
) T (4) = H T
Options:

51547518609, 1
61547518610, 2
615475158611, 2
E1547515861%2. 4

Question Number : 29 Question Id : 6154754772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fohm = w Aege i1 ot 1 wiavm Fe e Fogz 1 g i g § sAtashag = un?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475186131
615475158614, 2
£15475158615. 3
E154751861E. 4

Question Number : 30 Question Id : 6154754773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

36 YA /AT F FgeT F AW Fase, fyedh faf § =39 2001 ¥ 99 2007 F SO0 w69 TREZ wE R

(1) =] (2) THY
(3) SEW T (4) w=H U=
Options:

61547518617, 1
E1547518615. 2
E1547518613. 3
B1547518620. 4

Sub-Section Number: 3
Sub-Section Id: 615475213



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154754774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s inappropriate for describing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

51547518621, 1
E1547518622. 2
61547518623, 3
E1547518624. 4

Question Number : 31 Question Id : 6154754774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) e (2) FuTEed
(3) == (4) F=F
Options:

BE1547518621. 1
B15475186822. 2
E1547518623. 3
615475158624, 4

Question Number : 32 Question Id : 6154754775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1z most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) dJava
(3) C (4) SQL
Options:

E1547518625. 1
B1547518626. 2
G1547518627. 3
E1547518628. 4

Question Number : 32 Question Id : 6154754775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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() T S @ =
(3 = (4) ™
Options:

E1547518625. 1
BE1547518626. 2
B15475186827. 3
61547518628, 4

Question Number : 33 Question Id : 6154754776 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements, choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options:
61547518629, 1
61547518630 2

615475158621, 3
615475158632, 4

Question Number : 33 Question Id : 6154754776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A =% (R) ZET T& 2 #17 (R). (A) i 781 == 2

(2)  (A) 2R (R)3FI T=1 &, 74 (R). (A) Fi °&t == 74 2
(3) (A =E 2, g (R) &=t 75 =

) (AT T, F R TR E

Options:

61547518629, 1
61547518620 2
1547518621 2
61547518622 4

Question Number : 34 Question Id : 6154754777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following terms is related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra

Options:

61547518633, 1
61547518634, 2
61547518635 2
61547518636 4

Question Number : 34 Question Id : 6154754777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  s-TagEm

(2) - AEHE
Fhe
o

(3) 3-%
4 -3
Options:

E1547518633. 1
E1547518634. 2
51547518635, 3
E15475158636. 4

Question Number : 35 Question Id : 6154754778 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools 1s a collaboration tool for providing wirtual classroom

environment?
(1) A-Lab
(2) A—View
(3) A-Tutor

(4) A-Tearner

Options:

61547518637, 1
61547518638, 2
61547518639 2
15475138640 4

Question Number : 35 Question Id : 6154754778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) o=

@ T

3) TR

(4) T
Options:

E1547518637. 1



E1547518638. 2
51547518635, 3
615475158640, 4

Question Number : 36 Question Id : 6154754779 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(b) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2)  (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options:

61547518641, 1
615475158642 2
61547515642, 3
E1547518644. 4

Question Number : 36 Question Id : 6154754779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meq, TF W9 718 79, AeeEd 5§ R oty B R

(a) E-;.-:!-:F-'{*':g
(b)  TAui FH * Hed
(¢) =AY

i

(d) -3 IMETE

FefeEy 8 w8 ey =91

(1) (a). (b) =T (d) (2} (a). (c) 3 (d)
(3)  =ae (a) FE () (4) =Fae (a) @R (d)
Options:

615475158641, 1
E1547518642. 2
E1547518643. 3
515475158644, 4

Question Number : 37 Question Id : 6154754780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

615475158645, 1
615475158646, 2
E1547518647. 3
E1547518645. 4

Question Number : 37 Question Id : 6154754780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 7 T seaeT # 999H # Fefatad 7 B At |m 0 e e 20
(1) == (2) =R #HT T
{3} [ - I: "~ (4} 5 ; :

Options:

51547518645 1
615475158646, 2
615475158647, 3
E1547518645. 4

Question Number : 38 Question Id : 6154754781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (iv)
(4) (1) and (1v)

Options:
15475156459 1



E1547518650. 2
51547518651, 3
51547518652, 4

Question Number : 38 Question Id : 6154754781 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9 Antaa & (SR o) #
(1) Y-, Al R a2adl arii-a= a3k
(1) U TR g i

=

(i) = TATH FEl THZ-TEF YIS Tl 1 39 TEEE | T A

(iv)  IHd A9gETg

FeAfefias foepel § 9 91 F9E oA
(1) (1) 31T (iD)
(2)  (il) ST (iii)
(3) (ii1) #1T (iv)
(4) (1) 3T Gv)
Options:
E1E547E1R2E49 1
61547518650, 2

51547518651, 3
51547518652, 4

Question Number : 39 Question Id : 6154754782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A green building

(1) uses minimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy hiving

Choose the correct statements from the options given below :

(1) (1). (11) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4) (). (iv) and (v)
Options:
1547518652 1
1547518654 2
£1547518655 2
61547518656 4

Question Number : 39 Question Id : 6154754782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TF TARY FFA 999 (7 fafee)
(1)  =aE Sl % ST A A
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(iv)  TTHfaF FHETEAT H FE A 7
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fr=fafgn foweat 8 % 98 FuE =

(1) (). (i) 3R (i)
2) ([, () I (W)
(3) (i), (iii) W (v)

(4) (ii). (iv) T (v)

Options:

61547518653, 1
61547518654, 2
1547518655 2
1547518656 4

Question Number : 40 Question Id : 6154754783 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

Y A9 TEeH e Fetatad § O B g i o v 27

(1) == 3 @ T=wE
(3)  gzdi fawm (4) oTE™ 3R wEd =
Options:

61547518657, 1
E1547518655E. 2
E1547518659. 3
51547518660, 4

Yes



Question Number : 40 Question Id : 6154754783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TP ATIET e e efatad 4 o e wees oo et 27

(1) = =1 2 T FE
(3) g e (4) EE AT TR T
Options:

E1547518657. 1
E1547518658. 2
61547518659, 3
61547518660, 4

Question Number : 41 Question Id : 6154754784 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyayva Philosophy with Deductive — Inductive Process

Options:

61547518661, 1
61547518662, 2
61547518662 2
15475138664 4

Question Number : 41 Question Id : 6154754784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frterfign g=h 9 9 awdE fen 1 araies sone % e @ = g i

(1) g T U9 Y e AN O =9 o

(2)  TEvEE F YR W HEaH AT

(3)  ATE = A9 FOF I EAHEE F

(4) TP - AR TR Ay = 39 5 SAgE

Options:

61547518661, 1
1547518662 2
61547518662 5
61547518664, 4



Question Number : 42 Question Id : 6154754785 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following provides the overarching vision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

E1547518665. 1
61547518666, 2
E1547518667. 3
E15475158665. 4

Question Number : 42 Question Id : 6154754785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafofas 4 @ #0 vF wAfdeas 2fe TEE WA 2 S A ¥ W UEeTE S § 9 H geEeE 2an
237
(1) T©RAEART (2) A uH O AW 7S A
(3) TH I AW TF (4) =T T
Options:

61547518665, 1
E15475186EE. 2
E154751866Y. 3
B1547518668. 4

Question Number : 43 Question Id : 6154754786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options:
615475186690, 1
61547518670, 2
61547518671, 2
61547518672 4

Question Number : 43 Question Id : 6154754786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547518669, 1
61547518670, 2
E1E4751R671. 2
61547518672, 4

Question Number : 44 Question Id : 6154754787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Non-traditional teaching and learnming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(imn) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (). (i11) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options:

E1547518673. 1
61547518674, 2
E1547518675. 3
E1547518676. 4

Question Number : 44 Question Id : 6154754787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) Q). (D) 7R @) (2) (i). (i) = (iv)

(3)  (iiD). (iv) T (v) @) @), (v) 377 (v)
Options:

BE1547518673. 1
61547518674, 2
E1547518675. 3
61547518676, 4

Question Number : 45 Question Id : 6154754788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes 1n the global contents

(iv)  Financial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1), (1) and (v1)
(2) (1), (1v) and (v)
(3) (11). (1) and (v)
(4) (1), (11) and (v)

Options:

61547518677, 1
61547518678, 2
615475186793 2
615475186280 4



Question Number : 45 Question Id : 6154754788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W= 21 = T= 4 F@ faem =9 9 weTeRs At (Suim) # metia e 1 Tmem Fifw

(1) 97 | Ag-a%

(i) = = IEqEEAT

(i)  ATew HvE-—am § =2

(iv)  fa=i= geem

(v)  =E A TEae & weE T T e

(vi) T ,‘_' HER T IE]
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Read the passage carefully and answer guestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism’™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of struggle. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter

exploitation and labour grievances were all themes taken over by middle class nationalizsm

later.

Sub questions

Question Number : 46 Question Id : 6154754790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
61547518651, 1
61547518682 2
61547518653 2
1547515654, 4

Question Number : 47 Question Id : 6154754791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The popular movements were

(1) against imperalists (2) against their masters
(3) consciously violent (4) time bound
Options:

£1547518685. 1
61547518686, 2
E1547518687. 3
E1547518688. 4

Question Number : 48 Question Id : 6154754792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely

Options:

61547518689, 1
61547518690 2
61547518691, 2
61547518692 4

Question Number : 49 Question Id : 6154754793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pre-war popular movements were of

(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

51547518653, 1
615475156394, 2
£15475158635. 3
E154751863E6. 4

Question Number : 50 Question Id : 6154754794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:

E15475186597. 1
515475186398, 2
515475186595, 3
61547515700, 4

Question Id : 6154754789 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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61547518681, 1
61547518682, 2
61547518682 2
154751386284 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547518685. 1
E1547518686. 2
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615475158688, 4
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Correct Marks: 2 Wrong Marks: O
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61547518689, 1
61547518630, 2
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E15475186392. 4

Question Number : 49 Question Id : 6154754793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547518653, 1
615475156394, 2
£15475158635. 3
61547515636, 4

Question Number : 50 Question Id : 6154754794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547518697, 1
61547518698, 2
61547518699 2
1547518700, 4
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Options:

E1547518701. 1
E1547518702. 2
515475158703, 3
615475158704, 4
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E1547518701. 1
B1547518702 2
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E1547518705. 1
E1547518706. 2
B1547518707. 3
615475158708, 4
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61547518705, 1
E1547518706. 2
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Question Number : 53 Question Id : 6154754797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475187091
615475158710, 2
E1547518711. 3
B1547518712. 4
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61547518705, 1
615475158710, 2
615475158711, =
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615475187131
61547518714 2
61547518715 2
61547518716, 4
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615475187131
61547518714 2
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61547518716, 4
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E1547518717. 1
E1547518718. 2
615475158715 3
615475158720, 4

Question Number : 55 Question Id : 6154754799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

CYHTYTE AT AifUE B A IV Fees AR Y

(1) H.#. Heaob (2) A, TegTEE
(3) JETA] @55, (4) AL, FEwE
Options:

E1547518717. 1
615475158718, 2
E15475187143. 3
B1547518720. 4
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61547518721, 1
E1547518722. 2
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BE1547518725. 1
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E1547518729. 1
E1547518730. 2
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Options:

615475187321
E1547518734. 2
E1547518735. 3
615475158736, 4
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Options:

E1547518733. 1
615475158734, 2
615475158735 3
615475158736, 4
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Options:

51547518745, 1
61547518746 2
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61547518748, 4
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61547518752 1
E1547518754. 2
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E1547518753. 1
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615475158756, 4
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E1547518757. 1
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61547518761, 1
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

RISl HIA] SHEFHT Alfecd FAFTCHET Ieal 9 g8 TEHRR S7aTd ST ¢

(b)y A, TIUTS
(¢)  Tehdrd S&goTEmE Sl
(d)  FM.EH. e
(1) () &1 (d)
(2)  (b) A (c)
(3)  (a) AT (c)
(4)  (c) &AM (d)

Options:



B1547518877. 1
61547518878, 2
61547518875, 3
61547518880, 4

Question Number : 95 Question Id : 6154754839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Teiodd] HIA] SEEHM] Hliecd FAFCHET Teal 9 8 TEHR S7a1d AT ¢

(a)  T=amw T FieEsa
(b) A, TS

(c)  Tehdard wegomemEt el
(d)y = Tee

1) (a) & (d)

(2)  (b) A (c)

(3)  (a) AT (c)

(4)  (¢) &M (d)

Options:

61547518877, 1
61547518878 2
1547518879 2
615475158850 4

Question Number : 96 Question Id : 6154754840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



UGG T 3 T AR FAAEH Gar ¢
{EI.) L, [lpq t ‘-:'[E A [

(by TS TF 7

()  TamH wilEed wm
(d)  @Eca FAeRcH
(1) () ST (c)
(2)  (b) AT (c)
(3)  (b) F@AO (d)
(4)  (c) AT (d)

Options:

61547518881, 1
61547518882, 2
61547518882 2
15475138824 4

Question Number : 96 Question Id : 6154754840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
GBI AT ZH T8 HTIa0EE] SAeH odrd ¢

{ﬂ.} L. El;q k ‘-:'[E e,

(by e TF 7

r

(c) ey Orfecy o9

(d)  Tfec HewreH

(1)  (a) AT (c)
(2)  (b) AT (c)
(3)  (b) & (d)
4)  (c) & (d)

Options:

61547518881, 1
61547518882, 2
61547518882 2
15475138824 4



Question Number : 97 Question Id : 6154754841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Rl SATATIaH ATSAT 2H FIGaAT AT ?

-

(a) Halad

(b) =% AT

(c) TWQT FET

(d) 7 e 35 @R
(1)  (a) &7 (d)
(2)  (a) AT ()
(3)  (b) =0 (d)
4 (b) & (c)

Options:

1547518885, 1
61547518886, 2
61547518887, 2
61547518888, 4

Question Number : 97 Question Id : 6154754841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

el ATATIaH ATEAT 2H I I ?

-

(a) Aot
(b) 7 TEETT

(c) T’Fﬁ Famfi

(d) 7= FH A
(1)  (a) &7 (d)
(2)  (a) AT ()
(3)  (b) = (d)
(4) (b) HATI (c)

Options:



E1547518885. 1
51547518886, 2
B1547518887. 3
E1547518888. 4

Question Number : 98 Question Id : 6154754842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

JEiGUh] AT GF FHIEaAT FE0H FRY JT=A1 e ¢

(El} i LA A
(b)  TEMW
(c) GEME =Y

(d) = HEER

(1)  (a) A1 (d)
(2)  (b) &AM (c)
(3)  (a) A (e)
(4) (b) &1 (d)

Options:

51547518889, 1
61547518890 2
61547518891, =
61547518892 4

Question Number : 98 Question Id : 6154754842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tl ehl I aF FHEEAT 2E0H wRY JT=A1 e 7

(a) SRTIUEET
(b)  TEEA

(c) AT

(d) =M HER
(1)  (a) AT (d)
(2)  (b) AT (c)
(3)  (a) A (e)
(4)  (b) &1 (d)

Options:

51547518889, 1
61547518890 2
1547518891, 2
6154751585892, 4

Question Number : 99 Question Id : 6154754843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UEiYeh] Glesd ATHI HTEcA AT AR HEAq 5031 HiiEicas i ¢

(a) UEdeITH 49T
(b)y  FHATE TEHAH
(c) 4. 99317

(d) e F7TF

Iy = e

(1)  (a) &7 (d)
(2) () #TT (d)
3)  (b) = (d)
(4)  (b) &AM (o)

Options:

1547518893, 1
E1547518894 2
61547518895
61547518896, 4



Question Number : 99 Question Id : 6154754843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEi@aeh] aiod UTHIY liecamei Td TRV JEe i T80 iafcasd i 7

(a) UEEITH 49T
(b)y  FHATH TEHAH
(c) 4. .93

(d) HSrS TJaTE

Iy = e

(1)  (a) &7 (d)
(2) (c) #ATT (d)
(3)  (b) #T (d)
4)  (b) #AT (c)

Options:

1547518893, 1
E1547518894 2
615475158895, 5
61547518896, 4

Question Number : 100 Question Id : 6154754844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

21 YWTA AT Eleue] HIe ARFE HEH %o T8 7
(a)  HrS

(b) HYOE

(e) EEHE

(d) =

(1)  (c) AT (d)
(2)  (b) #AT (c)
(3)  (b) & (d)
(4)  (a) & (b)

Options:
61547518897, 1



E154751883958. 2
5154751883945, 3
51547518300, 4

Question Number : 100 Question 1d : 6154754844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=1 A T elodeh] FIcT ARHE o %o AR 7

(a) CIGELE]
(b) IO
(c) EEE

(d) ZFE

(1) (c) &M (d)
(2)  (b) &AM (c)
(3)  (b) =T (d)
(4)  (a) &A1 (b)

Options:

£1547518597. 1
615475158898, 2
61547518899, 5
61547518300, 4

Question Number : 101 Question Id ;: 6154754845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Teleud] A1.H Aot ATA1 S HHiae e ?

i

(a)  T&Ie=E"
(b) FHiagor

()  ==&M A
(d) ZEErETES A
(1) (a) A (c)
(2) (c) &1 (d)
(3)  (b) AT (c)
4)  (b) & (d)

Options:

615475183901, 1
E1547513302. 2
61547515902 5
61547518904, 4

Question Number : 101 Question Id : 6154754845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Taledeh] =151 At A1 2 TTdeR] e ?

-

(a)  T&wE™
(b) FHiegor

(c)  ==&M g
(d) ZEErEE A
(1)  (a) A (¢)
2) () #AT (d)
(3)  (b) AT (c)
4 (b) & (d)

Options:
61547515501, 1

E1547518902. 2
E15475183903. 3



E15475183904. 4

Question Number : 102 Question Id : 6154754846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEIGUE] TS HHEE Ba5s ATeAT SF FIGaT e ¢
(a) HThTHT

{b} — 1[:: [

(c)  TeEM

(d) TA94l

A T e

(1)  (a) &A1 (b)
@)  (b) A (o)
(3) () (d)
4)  (c) =T (d)

Options:

561547518905, 1
61547518306, 2
61547518907, 2
15475133908 4

Question Number : 102 Question Id : 6154754846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST ALHY HHAL Fobel ATEAT G HIGa=aT 0T ¢
(a) o

(b)  THEHTI

()  HIAM

(d) L e

(1)  (a) @00 (b)
@) (b) AT (c)
(3)  (a) FAT (d)
4)  (c) AT (d)

Options:
£1547515505. 1



E15475183906. 2
515475183907, 3
515475183908, 4

Question Number : 103 Question 1d : 6154754847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Jalousl ==y Aied i I 5H FUAWuE H100d 7

(a) U AT T3
(by T

(c) ElEGEk|

(d) T

(1) (b) FM (c)
(2) () #AT0T (d)
(3) () A (d)
@) (a) HAT (e)
Options:
L15475184909 1
L1547518910. 2

£154¥518911. =3
E1547518912 4

Question Number : 103 Question Id : 6154754847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i~ =Y

Jalousl Iieag Aied =g I 2H FAHTE HI00d ¢

(a) Ueh] SATaed] T30
(b)  H=@

()  SHfEaan

@ T

g Tag e

(1) (b) &AM (c)

(2) () ATT (d)
(3) (a) T (d)
4 () AW (c)

Options:

61547515509 1
61547518910 2
61547518911,
61547518912 4

Question Number : 104 Question Id ;: 6154754848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UEl@dehl VAT 5 SHTSHEEEH] 89 1848 9 1880 A= AR W3] GF ol 7

(a)  HEHA T

(b)  FHZETE S0
(c)  THER TS
(d) anEm

1 (a) A1 ()
2)  (b) AT (c)
(3) (a) #TT (d)
4 (b) & (d)

Options:

51547518913, 1
1547518914 2
1547518315 =2
61547518916, 4



Question Number : 104 Question Id : 6154754848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Jelcddl R 5 TISGERFH O 1848 9 1889 UL o131 M1 GF &l 7

(a)  HECH Fo

(b)y  HAFCERE AT
(c) AT THS
(d)  anEr fae

1) (a) A1 ()
(2)  (b) #M (c)
(3)  (a) A (d)
4 (b))

Options:

61547518913, 1
61547518914 2
61547518915 =
1547515916 4

Question Number : 105 Question Id : 6154754849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

foei 9 =99 snieardt oifeca o9 +:8 IS 7

(a) q7

(b) T
(c) g@Em
(d) EEGEIE]

(1) (a) AT (b)
2)  (a) AT ()
(3)  (c) A (d)
(4) (b) AT (c)

Options:
61547518917, 1



E15475189158. 2
515475189145, 3
B1547518920. 4

Question Number : 105 Question 1d : 6154754849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

[TH o =99 HATfeardl Jiiecy 99a Fis = ?

(a) T
by  TF=T=e
() TR

(d) TIdHT=

(1) (a) AT (b)
2)  (a) A (e)
(3) (c) AT (d)
(4)  (b) A ()

Options:

61547518917, 1
61547518918, 2
1547518919 2
E1547513920. 4

Question Number : 106 Question Id : 6154754850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



n f s [ - N
EE:. E_‘!EI$| EHEEMHEREIE AR IGEAEGIL P ERE NGRS

L

(a) GBI
(b) AdTD

(c) U@ UF U@
(d) TEEE UHE
1) (a) AT (b)
2)  (b) #T (o)
(3)  (a) AT ()
(4)  (c) A (d)

Options:

61547518921, 1
E1547518922. 2
61547518922 5
61547518924, 4

Question Number : 106 Question Id : 6154754850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SR o A it o} e S r - ST
J% SEEY 9ol =hialshd AT T4 STAh[IdTHUE hivd ¢

=

(a) TS
(b) AdTD

(¢) W9 TH OE
(d) TEEE U
1) (a) ST (b)
2)  (b) & (o)
(3)  (a) AT ()
(4)  (c) & (d)

Options:

6154751549211
61547518922, 2
61547518922,
61547518924, 4



Question Number : 107 Question Id : 6154754851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T TTE AT S EcaT=a1 TEEEEEE F:0e] J9= &5 #o AR 7

(a)  SHEIMEcT: faaa @ fafewea
(b) e el

(c) =led HEcATd S S =]

(d) YA A
1 (a) A ()
(2)  (b) H (d)
(3)  (a) A1 (b)
(4) (¢) FTOT (d)

Options:

51547518925, 1
61547518926 2
61547518327, 2
1547515928 4

Question Number : 107 Question Id : 6154754851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T AT T T EcaT=a1 TEEEEEE F:0e] T9T 5@ &o 318 7

(a) SO =g & Ao
(b) e e

(c) =fod OifEadie F9& ]

(d)y  SHYT=A wEE

(1) (a) AT (c)

(2)  (b) HA (d)

(3)  (a) & (b)

(4) () A (d)
Options:

£15475189:25. 1
E1547518928. 2



E1547518927. 3
61547518928, 4

Question Number : 108 Question Id : 6154754852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

==y, Giaaalg JH1 TTaiaTsl SAET=AT I Feaa folaedn ?

(a) HATFE
(b) foqmm
(c) HITTh

(d) =97 g 5y
(1)  (a) &A1 (d)

(2)  (b) #AT (c)

(3)  (a) AT (c)

(4)  (b) & (d)
Options:

5154751892591
61547518920, 2
615475158931, 3
E1547518932. 4

Question Number : 108 Question Id : 6154754852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y=g Giadalg T TTEIaTal SAETAT FI Fea fofaedn ?

(a) ATrel
(b) e
(c) HITSoE

(d) ¥H & d=3d 9
(1)  (a) &1 (d)
(2)  (b) HAT (o)
3)  (a) HA (c)
(4)  (b) &1 (d)

Lo

Options:



E1547518929. 1
61547518920, 2
51547518921, 3
61547518932, 4

Question Number : 109 Question Id : 6154754853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T HEeuET SEcAETT AT SHTHEEE S0 214 DIETHeR= Fa1E9 2id ?

(a)  HAFEAEA
(b) AT

~

(c) [ALEA|
(d)  HmHE

(1)  (b) &7 (d)
(2)  (a) @07 (d)
(3)  (a) &M (b)
(4) () & (d)

Options:

61547518933, 1
£15475138924 2
E1547518935 2
61547518926 4

Question Number : 109 Question Id : 6154754853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“TEE HEeuT TR ST HEEES 0T 2 T SHE Bl 7

(a) AR
(b) AT

(c) UET
(d) UHE

(1)  (b) &A1 (d)
(2)  (a) & (d)
(3)  (a) & (b)
(4)  (e) A (d)

Options:

£15475154953 1
61547515924, 2
61547518935
61547518936, 4

Question Number : 110 Question Id : 6154754854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Y@l H T A HEE AT T SR [ e 3 ¢
fE_}I aT.E _‘FEFEEJ"IF]
by .y, =Ef

(c) 141, TS
(d) = aEE
(1) (a) &1 (b)
(2)  (a) &A1 (d)
(3)  (e) &M (d)
(4)  (b) F (c)

Options:

61547518937, 1
61547518938 2
61547515929, 5
61547518940 4



Question Number : 110 Question Id : 6154754854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TEI@as ® W A F@Ee I Te giEEgd FEEE %o SR
{E_}I E‘T,E _‘FEFEEJ"IF]
(b) .19, =7

(c) 141, TMEAE
d) = gEE
(1)  (a) & (b)
Q) (a) AT (d)
(3)  (c) &M (d)
(4)  (b) &AM (c)

Options:

61547518937, 1
615475189328 2
1547518929 2
61547518940, 4

Question Number : 111 Question Id : 6154754855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qEAEUT B OY IO = F HigEEH foeer ?

(a) =93
(b) TG
(c) T?HE
(d)  fagary

(1) () &0 (d)
(2)  (b) #T (c)
(3)  (b) & (d)
4 (c) & (d)

Options:
£15475158541. 1
615475155942 2



E1547518943. 3
51547515944, 4

Question Number : 111 Question Id ;: 6154754855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F=eqT B U9 R 2F T foteer ¢

(a) G
(b) TG
(c) Tﬂﬂi
(d)  Taamy

(1)  (a) AT (d)
(2) (b) FTMT (c)
(3)  (b) & (d)
(4) () ST (d)

Options:
£1547515541. 1

E1547518942 2
515475158943, 3
51547515944, 4

Question Number : 112 Question 1d : 6154754856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T R FARL AT R Flea=aT= SEd Fo ¢
(a) HATER

(by  SHAEIERE

(c) fereaom

(d) Tl

(1)  (a) AT (c)
(2)  (b) AT (c)
(3)  (a) &7 (d)
(4)  (b) &A1 (d)



Options:

51547518945, 1
61547518946 2
E15475138947. 2
61547518948, 4

Question Number : 112 Question Id : 6154754856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e SAF T et T RIS Fea=T= S & ?

(a) AR
(b) FATTERE]
()  fa=eom
(d)  Tfmf

(1)  (a) AT (c)
(2) (b) ST (c)
(3)  (a) 3 (d)
(4  (b) A (d)

Options:

51547518945, 1
61547518946 2
E15475138947. 2
61547518948, 4

Question Number : 113 Question Id : 6154754857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



231, T=E AT H0CAT THIEHT SET o ¢
(a) BIIETEelEC]

(b) Wl

(c) EGIEE

(d)  HifEcT=E 9

a7 999 a2

(1)  (a) A (c)

(2)  (b) &M (d)

(3) (c) AT (d)

(4)  (a) & (b)

Options:

51547518949, 1
61547518350 2
1547518951 =2
E15475138952 4

Question Number : 113 Question Id : 6154754857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

231, TEE AT e TSI SEE o ¢
(a) TFEES

(b) Irealle

(c) EEICE

(d)  wrEeET=ET W

I T Hae

(1)  (a) A (c)

(2)  (b) & (d)

(3) (c) AT (d)

(4)  (a) &A1 (b)

Options:

51547518949, 1
61547518950 2
615475183951, =
1547515952 4



Question Number : 114 Question Id : 6154754858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FHATEA] 29912 AT FIE FfoaHaer o@d Fo 372 7

(a) TR

(b) HedIrg

(c) TAHS
{d) T:|.3|{~

(1)  (a) &A1 (b)
(2)  (b) S (d)
(3)  (a) A (c)
(4) (c) #ATT (d)

Options:

615475154953 1
61547518954, 2
61547518955 2
61547518956 4

Question Number : 114 Question 1d : 6154754858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FHATE 2378 AT FIAT Slad a9 @ shel g 7

(a)

(b) HedTrg

(e) qAhS
{d} "_:ll_ﬂ.H .

(1)  (a) &0 (b)
(2)  (b) 3 (d)
(3) (a) AT (c)
4 (o) = (d)

Options:



E1547518953. 1
61547518954, 2
51547518955, 3
E1547518956. 4

Question Number : 115 Question Id : 6154754859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T I E9aF Hged AT == T9g I=A1 7T S[I=41 @ET.

(a) S fag @ S

(by et fag (i) AR SEEEA
(c) T fag (iii) T =R
(d) @fid fagra &5« vt s

(1) (a)-(11). (b)-(1v), ()-(1), (d)-(11)
(2) (a)-(i1), (b)-(iv). (¢)-(ii1). (d)-(1)
(3) (a)-(1v), (b)-(111), (e)-(1), (d)-(11)
(4) (a)-(iii), (b)-(iv), (e)-(ii), (d)-(1)

Options:

£15475154957. 1
61547515958, 2
61547518959, 5
61547518960 4

Question Number : 115 Question Id ;: 6154754859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T Seatalessh fgie S0 = Sid AreAT A7 SrSar S,

(a) FHF g G FEm

(b) FmEET fHga (1) FR SEREE
(c) T fag (iii) SSET @R
(d) @i fagr (v) =i, TR

(1) (a)-(iii), (b)-(1v), (e)-(1), (d)-(i1)
(2) (a)-(11), (b)-(iv), (¢)-(iii). (d)-(1)
(3) (a)-(iv). (b)-(iid). (e)-(1). (d)-(i1)
(4)  (a)-@id), (b)-(iv), (c)-(i), (d)-(1)

Options:

51547518957,
61547518958,
615475183959,
1547513960,

[ N Y

Question Number : 116 Question Id : 6154754860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T, SHEAEREEY] Thed1 9 o= 9Ud I=A1 T SSd1 SEl.

(a) W W= i) e
(b) HewEEA FHAT (i) HfeAraeh
(c) ek == FTio7 affeudr=T gey (iii) TP
(d) TS AT (iv) = e

(1) (a)-(11), (b)-(1), (¢)-(i11). (d)-(1v)
(2) (a)-(1v). (b)-(11), (e)-(1), (d)-(111)
(3) (a)-(111), (b)-(1v), (c)-(11), (d)-(1)
(4) (a)-(11), (b)-(1). (e)-(111). (d)-(1v)

Options:

61547518961, 1
615475139362 2
61547518962 2
61547515964, 4



Question Number : 116 Question Id : 6154754860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TIier SAEREad] Gshe ST 9 o= YoId IT=41 0T ATSAT HEl.

(a) I HISH (i) oaE
(b) HeEEEA &l (i) HferEaes
(c) WTfuek = 7T Ot ged (ii) T
(d) TS ST (v) =@ T

(1) (a)-(11), (b)-(1), (c)-(111), (d)-(1v)
(2) (a)-(1v). (b)-(11). (e)-(1), (d)-(111)
(3) (a)-(111). (b)-(1v), (e)-(11), (d)-(1)
(4) (a)-(11), (b)-(1), (e)-(111), (d)-(iv)

Options:

61547518961, 1
61547518962 2
61547518963 2
615475139364 4

Question Number : 117 Question 1d : 6154754861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
- ) ; = r * =
I: EI': i.' |E[E‘L H-IJI:D-[ fa "_] QQI Ej ‘an q 'Gq - .E_;ZI :Ia_r'_]

(a) THHRL (1) 1871
(b) =HERE (i) 1867
(c) Tafaemmfa=ar (iii) 1850
(d) T3 FHEERSE Gv) 1841

(1) (a)-(1), (b)-(11), (e)-(1v). (d)-(111)
(2) (a)-(111). (b)-(1). (e)-(1v). (d)-(11)
(3) (2)-(v). (b)-(1). (e)-(11). (d)-(i11)
(4) (a)-(1v). (b)-(11), (e)-(111), (d)-(1)

Options:
61547518965, 1
61547518966 2

E1547518967. 3



E1547518965. 4

Question Number : 117 Question Id : 6154754861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i:'. 1: - " r : =
A i L) HTfD'[ IS T:l H EE' E EE q -!:'q - -_AEI ._:‘Ia_..r]

(a) TR 1) 1871
(b) EYWEEE (i) 1867
(c) Tafausmfa=ar (i) 1850
(d) #U31 THTEEE Gv) 1841

(1) (a)-(1). (b)-(11). (e)-(iv), (d)-(1i1)
(2) (a)-(ii1), (b)-(1). (e)-(1v), (d)-(11)
(3) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
(4) (a)-(1v). (b)-(11), (e)-(111), (d)-(1)

Options:

61547518965, 1
61547518966, 2
61547518967, 2
1547515968 4

Question Number : 118 Question 1d : 6154754862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T AT TIFE A=A A4 o5 1.

(a) ST U9 Fl G) T s
(b) EfECAT T (i) Toom grm
(c) WAL ferEm (iii) T F=TS
(d) T (iv) We=g THE

(1) (a)-(1). (b)-(ii1), (e)-(1v), (d)-(i1)
(2) (a)-(111). (b)-(i1), (c)-(iv). (d)-(1)
(3) (a)-(1v), (b)-(ii1). (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(1v), (e)-(1), (d)-(111)

Options:



E154751896%9. 1
61547518970, 2
51547518971, 3
E154751897Z2. 4

Question Number : 118 Question Id : 6154754862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T AT TIFE A=A A4 o5 1.

(a) HE=ET U9 Fal G) T s
(b) @& HTaT ) faem anm
(c) TR f==m (iil) TG F=ES
(d) T (iv) YTe=g =13

(1) (a)-(1). (b)-(111), (¢)-(1v), (d)-(11)
(2) (a)-(111). (b)-(11), (c)-(1v). (d)-(1)
(3) (a)-(1v), (b)-(111), (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(iv), (c)-(1), (d)-(ii1)

Options:

15475183969, 1
1547518970 2
61547518971, 5
61547518972 4

Question Number : 119 Question Id : 6154754863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



THEATY AT THIF A=A ASAT el

(a) HIEEHeT AT ATE (1)  =8d A SeTh
(b) wIEATS AFGRIRI (i) [T
(c) eHFICR (iti) T.ALTET
(d) A (iv) H.2. BT

(1) (a)-(1). (b)-(ii1), (e)-(1v). (d)-(11)
(2) (a)-(11). (b)-(11), (c)-(1), (d)-(av)
(3) (a)-(111), (b)-(iv). (c)-(1), (d)-(11)
(4) (a)-(1v). (b)-(1), (c)-(111), (d)-(11)
Options:
L154751897 3.
1547518974,

51547518975,
E1547518976.

[ N

Question Number : 119 Question Id : 6154754863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FHIETHS ATV THIF AT ASAT Sl

(a) HIEcAgeT AT AT (1)  =Ed ATETSH S
(b) wIfECATHS AFRIRT (i) FITE
(c) TR (iii) I7.97.99R
(d) & (iv) T.3. EAFHIGH

= s o
A Y41 5]

(1) (a)-(1), (b)-(111), (e)-(v), (d)-(11)
(2) (a)-(111), (b)-(11), (c)-(1), (d)-(1v)
(3) (a)-(111), (b)-(iv), (e)-(1). (d)-(11)
(4) (a)-(1v). (b)-(1). (c)-(111). (d)-(11)

Options:

£1547518973. 1

51547518974, 2

B1547518975. 3
51547518976, 4



Question Number : 120 Question Id : 6154754864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SRIF] d AT oEaFd] I AR S8 Jood]

) EEah G e e
W Gi) SeET

L (iii) rfe=e
& Gy) e

A 9 e

(1) (a)-(1). (b)-(1i1). (c)-(11). (d)-(iv)
2 (a)-(1), (b)-(11). (c)-(111), (d)-(iv)
(3) (a)-(1v), (b)-(1). (e)-(i1), (d)-(ii1)
(4) (a)-(i1), (b)-(ii), (e)-(1v). (d)-(1)

Options:

B15475184977. 1
61547518978 2
61547518979, 5
61547518980 4

Question Number : 120 Question Id ;: 6154754864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SR = =T SEAEA AT AT S 5]

) ey (i) T TemE
b s (1) 3

@ e (i) Tf=ry
@ Hes (iv) oA g4

(1) (a)-(1). (b)-(ii1), (e)-(i1), (d)-(1v)
(2) (a)-(1). (b)-(i1). (c)-(it), (d)-(1v)
(3) (a)-(1v), (b)-(1), (e)-(i1), (d)-(1i1)
(4) (a)-(11), (b)-(111), (¢)-(1v), (d)-(1)

Options:
61547518977, 1
61547518978 2



E1547518979. 3
51547518980, 4

Question Number : 121 Question Id ;: 6154754865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T AT TUFR T AT Fooel.

(a) FFOTREEER (1) TSl
(b) TIES FEFATEEE (i) g
(c) ST T (iii) FAMHEA
(d) FHERE (iv) FSmEAl 34

T T4 e

(1) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(2) (a)-(11), (b)-(1), (c)-(111), (d)-(v)
(3) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)
(4) (a)-(1v). (b)-(iii), (e)-(i1), (d)-(1)

Options:

615475154951, 1
61547518982, 2
61547518983 2
61547515954, 4

Question Number : 121 Question 1d : 6154754865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T HTOT TUHR TT=AT SAS4T q4T.

(a) FFOTREER (1) TSl
(b) TIEES FEEUEET (il) 9T
(c) HFEd &A1 (iii) HATHAT
(d) FEETEEE: (iv) FHAT 129

(1) (a)-(111). (b)-(iv), (e)-(1). (d)-(11)
(2) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)
(3) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(4) (a)-(1v), (b)-(i11), (c)-(11). (d)-(1)

Options:



E1547518981. 1
61547518982, 2
51547518983, 3
615475158954, 4

Question Number : 122 Question Id : 6154754866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FET F T AR I FASAT HAT.

(a)  HTAT Hld:=hicd (1) EMEEI
(by =HIIH Ef:Tr (i) TEEE
(c) [T dHTI=ET T8 (iii) THYTH
(d) & & 1 e T (iv) TH S

% [N o,
AT T T3]

(1) (a)-(ii1), (b)-(1), (e)-(11), (d)-(1v)
(2) (a)-(1v), (b)-(111), (e)-(11), (d)-(1)
(3) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)
(4) (a)-(11). (b)-(1). (e)-(iv), (d)-(iii)

Options:

£15475154955. 1
615475159586, 2
61547518987, o
61547518988, 4

Question Number : 122 Question Id ;: 6154754866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



@A 3 To AR A= SASAT Fel.

(a) TS UEHIB (i)  BHET
(b) BT G (i) TEEE
(c) &AM IUIET & (iii) THEIH
(d) o =1 WE TEs (iv) T el

(1) (a)-(111). (h)-(1), (¢)-(11), (d)-(1v)
(2) (a)-(1v), (b)-(i11), (e)-(i1). (d)-(1)
(3) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)
(4) (a)-(11). (b)-(1). (e)-(1v), (d)-(ii1)

Options:

51547518985,
61547518986,
61547518987,
1547513988,

[ N Y

Question Number : 123 Question 1d : 6154754867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FATFR 9 FATER T4 GAT A1 T4,

CYIAPER i) TF=.[=. ==l
(b) e (i) 2.9, @
(c) FHAHTGT (i) FA@ 24T
(d) FaFET (iv) ToATeR Haail

[

A T e

(1) (a)-(111). (b)-(1v). (e)-(1). (d)-(i1)
(2) (a)-(1), (b)-(iii), (e)-(ii), (d)-(iv)
(3) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(4) (a)-(1). (b)-(1v), (e)-(11), (d)-(iii)

Options:

61547518989, 1
61547518990 2
61547515991, 5
61547518992, 4



Question Number : 123 Question Id : 6154754867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FATIFN F FATER A=A GATT 1221 Jo341.

(a) @ @ = e
(b) e i) fa.9. @Es
(¢)  HAHTA (ili) =FAS 505
(d) FTFFAT (iv) ToTmehi Haail

(1) (a)-(111). (b)-(iv). (e)-(1), (d)-(i1)
(2) (a)-(1). (b)-(111), (e)-(11), (d)-(iv)
(3) (a)-(iv). (b)-(ii). (c)-(iii). (d)-(1)
(4) (a)-(1), (b)-(iv), (c)-(i1), (d)-(iii)

Options:

51547518989, 1
61547518990 2
61547513991, 2
61547515992 4

Question Number : 124 Question Id : 6154754868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SFFET AT Bfecahdl QA1 J0F F2A7 2541

(a) HHEET THEH i) fae
(b) TSI (i) Ao
(c) ATHAUE (iii) =gl
(d) =1 (iv) SHEATE]

(1) (a)-(11). (b)-(1). (c)-(ii1), (d)-(1v)

(2) (a)-(1v), (b)-(1), (c)-(11), (d)-(111)

(3) (a)-(111), (b)-(i1). (e)-(1), (d)-(1v)

(4) (a)-(1), (b)-(v), (c)-(11), (d)-(iii)
Options:

E15475189593. 1
B154751589394. 2
51547518985 3



E15475189396. 4

Question Number : 124 Question Id : 6154754868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFa@l AT Afecashd] Gredl AFE SSa1 51,

(a) HAHET THEN i) foas
(b) TSAERE (i) <Aesr=iE
(c) AU (iii) A=
d) =1 (iv) FFEAEI

AT T4 e

(1) (a)-(11). (b)-(1). (e)-(111), (d)-(1v)

(2) (a)-(1v), (b)-(1). (c)-(11), (d)-(111)

(3) (a)-(111). (b)-(11), (c)-(1). (d)-(iv)

(4) (a)-(1). (b)-(v). (c)-(11), (d)-(1ii)
Options:

51547518953 1
615475158934, 2
61547513935, 3
E15475189396. 4

Question Number : 125 Question Id : 6154754869 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tl JTHIT el =1 FIGHHH Tl

(1)  TuHEcd =498, AHe J15d, 9191, T8FR, TEAY 290E

(2) UFATY I, .97, TEAR, SdHe A5, e SR

(3) TG0 HEMR, AHE AT, AHed =Ed, THY S3E

(4 AHE T5d, AMHEe J9, THRATY o3gd, .91, T2FR

Options:

1547518997, 1
61547515998, 2
61547518999,
615475139000, 4

Question Number : 125 Question Id : 6154754869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tl JTHIT el =1 FIGHHH Tl

(1)  TuHEcd =498, AFs J5d, J1.97. TeFR, T 2303

(2) TFATY S, A1LG1L EER, JAHE A7, THed A

(3) 191, HEFAR, e Ted, ThHEed J 9, T S3E

(4) AHE T5d, AMHEe J9, THRATY o3gd, .91, T2FR

Options:

1547518997, 1
61547515998, 2
61547518999,
615475139000, 4

Question Number : 126 Question Id : 6154754870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
UGl U FHISFHHHNE Gl

(1) O™ W& A 9 oG, G 595, T3] SEA FE, a8 SATEE T8 F M8

(2)  TgorEd e, TeEd SAERE TE w9, T WS S J o, TR oEd S

(3) T TG S 9 ol el AERE T3l hE, AgoEd F9, T3l oEd FiE

(4)  TEE SAEEE TS FE, TS ST FIE, T W6 S 9 9, Tgond s

Options:

561547519001, 1
61547519002 2
61547519002 2
61547519004, 4

Question Number : 126 Question Id : 6154754870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tei® U9 HIOHATHR Gl

(1) T W& =0 3 3G, gt Fae, T3] SEA &9, T8 SAEeE W& &8

e

(2)  IgoEd T, e SAERE W3 w9, T W31 A0 9 oEH, T3 oEd S

(3) T W& SE A i, T9ed SAEEE W3] &E, G HeF, T3 @ FiE

(4) " ARG T3 HI9, G oA w9, GY TS S 9 o, JEoud Hed

Options:
61547519001, 1
61547519002, 2



E1547513003. 3
51547513004, 4

Question Number : 127 Question Id ;: 6154754871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T 3 ATSTEEdS === TRATE == FT=1 FEa2 FAHF S,

(2) =, Tl Ted AR, FAYLE!, AEEE! TE)
(3)  EEYeLl, HiEg=l W, J%, T aed AR
(4) T Ted AR, Fa9e4, ATEA=1 e, =

Options:

1547519005, 1
61547519006, 2
61547519007, =
61547519008, 4

Question Number : 127 Question 1d : 6154754871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T 9 ATSTEEdS === TRATE =E9 FT=1 FEa FAHF S,

(2) %, Tl Aed AR, FEYLE!, AEEE! @Et
(3) YL, HiEg=l W8, J%, T aed Al
(4) T Ted AT, FEULA, AT WIS, T

Options:

61547519005, 1
61547519006, 2
61547519007, =
61547519008, 4

Question Number : 128 Question 1d : 6154754872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TR AT A= FATET A2 FIGHATHR SMEL.

(1)  dao%, Fa1dl, dogs, a5

- oW

(2) F9e, FATd, Jao%, T06s

(3) AT, qISF, BI9E, Toas

(4)  doos, TAE, BIFE, JHoF



Options:

515475190039, 1
61547519010 2
1547519011, =2
61547519012, 4

Question Number : 128 Question Id : 6154754872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

|

R AT A= HATET 2 FIGFHATAR SMEL.

(1)  daoF, 741, o3, Ta

(2) e, TAE, qOF, a9

(3) AT, qa0%F , 8996, Goas

(4)  doms, JATE, BEEE, Jao%
Options:

61547513009, 1
E15475139010. 2
E15475139011. 3
B154751301%. 4

Question Number : 129 Question Id ;: 6154754873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TGl TTHIY FEaT=1 FIGHET Gl

(1) & 3gH, TS, 9ofl, w6
(2) @8I, @O 3R, Ui, TS

(3) VM, IS, U IGR, T

(4)  TES, I, T 3G, Tl

Options:

1547519013, 1
61547519014, 2
61547519015 =
61547519016, 4

Question Number : 129 Question 1d : 6154754873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



UEie TTH ==l FleHFE SEl.

(1) & 3gR, TS, oA, 5

(2)  =SHl, T 3R, WU, TS
(3) T, RIS, @ 3gR, T8

(4) TS, SHl, WA 3R, 9T

Options:

61547519013, 1
61547519014, 2
61547519015 5
61547519016, 4

Question Number : 130 Question Id : 6154754874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HTETE = TosEvll A SloaTaads HeHETH SEl.

(1) I fus, gvars o, Sk, :E e

(2y  =rE., g U, TvEE 9w, SRS e

g o'

(3) A 9, 318, RS 9T, HEET 99

(4)  wEE 97, SiE, TUEE T, @] S

Options:

61547519017, 1
E1547519018. 2
61547519019,
61547519020 4

Question Number : 130 Question Id ;: 6154754874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT o Faa0ll AT GATTEETE FSEHFAH SElL

(1)  Tar=Er 9s, 9vam g, S8, SR e
(2) S, == s, avas g, SR e

g =

(3) A 9, 318, RS 19T, ST 99

(4)  =RSI 9, S, TvaE v, @ e

Options:

6154751390171
61547519018, 2
61547519019



E1547513020. 4

Question Number : 131 Question Id : 6154754875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1.2, THIeE A= FAEIE FEFAHINE Bl

1 Ef&,fﬁqﬁﬂ,Eﬁﬂfﬁ_ EﬁgaT {EJ EﬁgaT!?Iﬁ, < =, Eﬁgﬁﬁ
{3) i-ﬂr”ﬁ‘!‘ H—“léﬂ{‘ "ﬂijim‘ }:Fj {4} W*l '@_?j-'! I|:.'-|"||"5‘13 3“’37*!{
Options:

61547513021, 1
E1547513022. 2
E15475139023. 3
E15475139024. 4

Question Number : 131 Question Id : 6154754875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

171, THToE A= FAEIE FEFAHIN Bl

(1) E—{}a =T, EIT(}E ; ‘jﬂh_j;ﬂ[ (2) @gﬂ, H?L =14, Gﬂ%
{3) i-ﬂr”ﬁ‘!‘ H—“léﬂ{‘ "ﬂijim‘ }:Fj {4} W*l '@_?j-'! I|:.'-|"||"5‘13 3“’37*!{
Options:

51547513021, 1
E1547513022. 2
61547513022, 3
E1547513024. 4

Question Number : 132 Question Id : 6154754876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

%I JTHI0 TG FHIGHFT S,

(1) g, TRE=ET 1, UATR, 289K

(2) TS =T oMY, &cdl, 8gadl, el

IB) aGSHI, 4II4:"51hI1:1I fsil'i: Uedlld, &l
{4} Ui, aaG4dle, J1I4':f'a4n|1:|l Y, acdl
Options:

61547513025 1
61547513026, 2
E15475139027. 3
E1547513028. 4



Question Number : 132 Question Id : 6154754876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UGie UM Hea=T=1 FIGHFH @Ml

(1) e, ST &, TR, 8589

(2) TR &, 261, BaaIR, TATR

(3)  FEEUR, TTSEN Y, TATR, Eedl

(4) UATR, BGEAR, TR 97, g

Options:
15475150251

E1547513026. 2
B1547513027. 3
51547513025, 4

Question Number : 133 Question 1d : 6154754877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TR g T I Fea FerEy SEl.

(1)  TH=a= S, UHT T Gosa M, HHEEEE] S, FHeiH

(2)  UHl T HeAH, FIATE, TR S, BRG] S

(3) FFRA AT, T 9, Ul T Heb i, o

(4)  FIATE, TRATH T, FEFGE T, TH T 024

Options:

61547519029, 1
E1547519020. 2
61547519021,
61547519032 4

Question Number : 133 Question Id : 6154754877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AR G ATAT &5 FEa1 FISTFRH Sl

(1)  9H=a= S, UHT Ted Hosa M, BHEEHE] S, FHeH

(2) UHT To] Hepd A, FIH, TREATE 1, FESTE] FGEH

(3)  EEFEE! FI, UNSA S, UHI T HA 0, FITH

(4)  FISTE, TRATH S, FEFGE FE, UH T T24H

Options:
61547519029, 1
61547519030 2

£1547513031. =



E15475139032. 4

Question Number : 134 Question Id : 6154754878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TEHYE A 9 A Udeds SeE ST TUHEE (Y1) FeHET S

(1)  mwEel, Wiaers, Jgaem, J99m (2) TEUER, ANEG!, FA9H, WIS
(3)  THIY=B, ISR, 9d9H, ANEE] (4) TaEYes, I49H, AF%E], JEdM=ER
Options:

E15475139023. 1
E15475139024. 2
51547513035, 3
61547513036, 4

Question Number : 134 Question 1d : 6154754878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
HEHYE A0 9 A HaHEdE Uaeas dAoE SEom= a9

ot o
I

=1 (ST T ol

(1) ] "-"'ﬂs 5] c s, FoITER, = | (2) AN, H r~i~:e A , ¥ TS
(3)  THdEU=, 54N, a9, AREE] (4) ORI, F99H, ANEE], JEaTER
Options:

51547513033, 1
61547513024, 2
E1547513035. 3
E1547513036. 4

Question Number : 135 Question Id : 6154754879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR M A= THIAHY FeHEd ol

(1)  wid¥=a1 geamd, ey Hes, TS A0 101, IoaEiie Hal

(2)  EfEca 9Fcs, TUEES Fel, UGH=a1 GEa1ETd, TS AT I

(3) OIS F4E, TS A0 Ii, TfGU=aT GEaEd, diecar Hes

(4) == F0T 9, e OFes, Iaiis J5E, Ja9=a1 TearErd

Options:

61547519037, 1
61547519038, 2
61547519039 2
61547519040 4

Question Number : 135 Question Id : 6154754879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TSR MEH1e8 = A1y FaHF S,

(1)  wiaH== e, ieca= 9FEs, TS A0 979, TaeEiis 3J26

(2)  OEEN AFes, TAES e, Sav=a1 TedmErd, TsE AT 979
(3) TS FALH, TSF AT 9, I9U=a1 e, AiEca gHes
(4) =% AN U, FECAE HEES, IS AR, FidH=a GEETd

Options:

51547519037, 1
61547519038, 2
61547519039 2
61547519040 4

Question Number : 136 Question Id : 6154754880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e 2F 99 Toal ded. (A) T TEE (R) 999 Goo dw. 31 34 F9a=d @9 35 939019
E w1 s

(A) : TZEA FEHEFS =TT S I TS FATE S,

(R) : T SEehTd ATSAHT= A9 SFEUHTH] TS ATal.

(1)  (A) &7 (R) 58—, 1007 (R) B (A) = 977 T0deor &7z,
(2)  (A) 30 (R) SRR, 1007 (R) & (A) = F0F T80 14
(3) (A TER HA®, Wg (R) TF AT%.

(4) (A F% A2, Wy (R) R Az,

Options:

51547519041, 1
61547519042 2
615475139043 =
61547519044 4

Question Number : 136 Question 1d : 6154754880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e 5F 9T el FEd. (A) 99 SEE (R) 969 Goe dE. T 24 9@ SEE 35 94
E w1 e

(A) : TZHEA FEHEFS =T A I TS FATE S,

(R) : T2ahYT SEeTd AT A9 SFETATEH T T8

(1) (A) 7 (R) ===, 10T (R) 2 (A) = 377 T9da .
(2) (A) 1T (R) =i=ix, #1101 (R) B (A) = F7g ST9eR0T 9181
(3) (A =ER A&, Tg (R) 9% .

4) (A FF Aw, W (R) T A
Options:
51547519041, 1
61547519042 2
61547519043 =
1547515044 4

Question Number : 137 Question Id : 6154754881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e 2F T Fodl dwd. (A) T3 T8 (R) 9994 Goe @, T 54 T oY 3 =
T =T,

(A) : TT=H eafeiad 8 Aed T =1 T8 TR k.

(R) : FEATeRad Sa4 Hed ™ TT=H FeTdis SI5Td o371 19 S 9 A8l
(1) (A) S R) TR, 07 (R) B (A) =TT T AR

(2)  (A) A (R) TR, S (R) E (A) = TG T AE

(3) (A =R #HE, WY (R) TF F&.

4) (A F=% 9E, Tg (R) 7= AT,

Options:

51547519045, 1
61547519046 2
61547519047 2
61547519045, 4

Question Number : 137 Question Id : 6154754881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e 2F 9 Rodl dEd. (A) T WEE (R) 999 Goe @, T 54 FE=A S 49 91

a-_l.

(A) : TT=H eafeiad 8 Ao T =1 T8 TRl SR,

(R) : FEAleRad Saq hed ™ U= HIeTdie I5Td 5ea=1 919 Sue= &4 =8l
(1) (A a1 (R) ==, A7 (R) B (A) = F0T SO0 &2,

(2) (A) &1 (R) =, &A1 (R) B (A) = a7a TE=0 181,

(3)  (A) =R AR, W4 (R) 9% &,

4) (A== #E, Tg (R) 7= AT,
Options:
61547513045 1
61547519046, 2
61547519047, 3
61547519045 4

Question Number : 138 Question Id : 6154754882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e 2F 9 ot ded. (A) T TEE (R) 999 Goe @R, 71 3 e AR 35T W=

™

EE»J f

(A) : FFECE 9T 98 IieddTad 9a1ed &l% Iehd TEL.

(R) : ek =TT 29T Teash 9] a0 AT FE0e FiEad= 9TdE J8+ 999 2.
(1) (A &7 (R) =R, A7 (R) 2 (A) = T T AR,

(2) (A) F0T (R) IO, 10T (R) B (A) = IFT TSR0 T8,

(3) (A = R, T (R) 9% AR,

@) (A TFF AR, TG (R) T AL,
Options:
615475130493 1
615475139050, 2
61547519051 =
61547519052, 4

Question Number : 138 Question Id : 6154754882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i W 2

e aF 9 ol ded. (A) F#= TEE (R) 9990 Goe @R, 71 3 FEF=a S9R 377 =i

(A) : FEIGE 9T 90 IMiedhdudd 9aed &i% Iehd Tl

(R) : Uk A0S cYue: Jecai¥] Sds HHe] MUl Fidd= STIal 9a9 999 2id.
(1)  (A) 3T (R) =R=R, A0 (R) & (A) = 30T TTEET AR,

(2) (A) 11 (R) 5=, &A1 (R) 2 (A) = I7F DT80 781,

(3) (AR A%, Tg (R) TF .

4) (A FF o2, Td (R) TE 78,
Options:
51547519049, 1
61547519050 2
61547519051, 2
E1547519052. 4

Question Number : 139 Question Id : 6154754883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 2F 99 Godl e, (A) T TEE (R) 9994 Goe @, I 21 F&= SAT9R I7T 043
..EEL_;.

(A) : =T Feeid TISEehd=1 3chE av- Id1d, 9o e Feail =,

(R) : WICTT FIgert & T Figer = Afde araao AR d=, 8 JH =14,
(1) (A) A (R) =R ATed, A (R) & (A) = 073 TEE0T AR,

(2)  (A) @7 (R) T HATed, A (R) 7 (A) T T07 TIEE 4.

(3) (AR AR, T (R) IF =,

(4) (A) TF T8, Wg (R) sH &,

Options:

61547519053, 1
61547519054, 2
61547519055
61547519056, 4

Question Number : 139 Question Id : 6154754883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¢ 24 99 Todl e, (A) T WEE (R) 9994 Goe 9. I 28 J&= SAT9R I79 143
..EEL_;.

(A) : =T Feeid TIEEehd=1 3ch® av- Id1d, 9o Teiees Fieal =,

(R) : el wEal € o FesR=EE dAfaE aiaaql dAfassR JR, dJ6 a6 9.
(1) (A) @ (R) TR G, A0 (R) B (A) T IFF TqEET A

(2)  (A) AT (R) TR 0=d, AT (R) 7 (A) =TT T TEL

(3)  (A) R A, WG (R) TF AT,

(4) (A) TF T8, Wg (R) sH &,

Options:

615475139053 1
61547519054, 2
61547519055
61547519056, 4

Question Number : 140 Question Id ;: 6154754884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e 2F T Tool dAed. (A) T TEE (R) T9E Hoe AR, T 24 FEE S9R A @i

(A) : TATTAT F1ATd YRATT Ty a1 T8 Ushiishan TG0 59 8 °247 ey 214,

(R) : TR F1e5Td Uehiteheh] T 63 fiem <mg wanmey e snfn arswages snfn amgesr 7=

HITY T T
(1) (A) FT (R) s, AT (R) B (A) & T TS AR,
(2)  (A) =707 (R) =R, A0 (R) B (A) = T SIS0 AT
(3) (A =R A7, Wd (R) 9% A,
4 (A TF AR, T (R) R ATE,

Options:

61547519057, 1
61547519058, 2
61547519059 =
61547519060, 4

Question Number : 140 Question Id : 6154754884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e 2F 99 Towl Ak, (A) T TEE (R) 9906 Goe AR, 1 24 TEar A9R ard @l

(A) : TETATR HIA TR T e a1 T Uil T41 5 & 241 Ja=gol 24,

(R) : SATTATH FT2Td Uil oEad e ey =8 sarey M2 S arsmaged S e Jm=
FIEY T2 .

(1) (A) &1 (R) TR, A0 (R) & (A) F A0 TTEE 78,

(2) (A) & (R) RN, &A1 (R) 2 (A) = J7F SIS 4]

(3) (A T A7, W4 (R) I% HAe.

(4) (A) T #A&, g (R) T AR,

Options:

61547519057, 1
E1547519058. 2
61547519059, 5
61547519060 4

Sub-Section Number: 2
Sub-Section Id: 615475216
Question Shuffling Allowed : Yes

Question Id : 6154754885 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension



=T GEiel SEfidra SgTHa Jea= 39 1. 9. %. 91 9 95 i sArea.

I S S
o 9= 99T TS
T3 T 59, a3 T o

a9 =9 sediH. ... g4 9 919

59 W@ =dH

Bl Q'GT-t_tH*:-lril.,‘ 51;1:1 EIEE]
mn'_ (s’ F:ﬂjﬂqa‘pﬂ

gl HIEAT a3 IR
ATl T57 doTs A

215 HTEAT g7 9 TEE 97

T T4 3a%d Jal
=ET S wiET Yred

J31 97 7 93 5

A 3= #7491 3ad Tal

=& F FFT
BEIERCHIIES
=T T e 5§

g W1 3aed R
T 9 9=

& AT TSaT Tl
S= T 3ckl SIE
ST 9 AT




Sub questions

Question Number : 141 Question Id : 6154754886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TI@ GG S &l HY 0T ?

(1)  FrgETRef 5=

(2 FIAH BB FAERE] hose 99 A0 A2

(3)  HTE=AT YEE G0

(4) A Fea A

i

Options:

61547519061, 1
61547519062, 2
61547519063 =
61547519064, 4

Question Number : 142 Question 1d : 6154754887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T ST =1 S=dmrE 499 9] 35 & e AR ¢

(1) =T AT T == ATEL

(2) quit qTS! gam o= =mad el

(3) FTH FTATGHE e ==4l.

(4) FA=A =T BEmiiE fa=am aasa JeEsd.

Options:

61547519065, 1
61547519066, 2
61547519067, 5
61547519068, 4

Question Number : 143 Question Id : 6154754888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) ST ST {31 SRAETAEES TUaE TWes 9 SHIE JAFFEE G 9998

(2) T TEeAs Foe ANSIANS]

(3) fore] FTEeaTs GedETa] G 2T

(4) T HEE SR T
Options:

615475130649 1

61547513070, 2

61547519071, 3

61547513072, 4

Question Number : 144 Question Id ;: 6154754889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3 —SAHIST FETE FEAS] FE0, SR SIS =99 FES S I S 20T $Y 0 ?

=

(1) T3-S Few T=991,

(2)  FR-ZHST FHIET SEY]

(3) A=A BT AT 9 SUH=AT 29T 98] AG9E ATEIS

(4)  ECEEIEA G2 FE U

Options:

61547519073, 1
615475139074 2
61547519075 2
61547519076 4

Question Number : 145 Question 1d : 6154754890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘T2e TSE AW HH & Tede AR

(1) FTeed] THa=aTaT ARTATESI

(2) OaaH tHa=EE =Y SqEraEs

-

(3) T S IEoeT AR a1 TE J TIErE

(4) qTHeRT=1 FH1d Jed 59 HUAEa

Options:



BE1547513077. 1
61547513078, 2
51547513073, 3
61547513050, 4

Question Id : 6154754885 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuestion Label © Comprehension



=T GEiel SEfidra SgTHa Jea= 39 1. 9. %. 91 9 95 i sArea.

I S S
o 9= 99T TS
T3 T 59, a3 T o

a9 =9 sediH. ... g4 9 919

59 W@ =dH

Bl Q'GT-t_tH*:-lril.,‘ 51;1:1 EIEE]
mn'_ (s’ F:ﬂjﬂqa‘pﬂ

gl HIEAT a3 IR
ATl T57 doTs A

215 HTEAT g7 9 TEE 97

T T4 3a%d Jal
=ET S wiET Yred

J31 97 7 93 5

A 3= #7491 3ad Tal

=& F FFT
BEIERCHIIES
=T T e 5§

g W1 3aed R
T 9 9=

& AT TSaT Tl
S= T 3ckl SIE
ST 9 AT




Sub questions

Question Number : 141 Question Id : 6154754886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TI@ GG S &l HY 0T ?

(1)  FrgETRef 5=

(2 FIAH BB FAERE] hose 99 A0 A2

(3)  HTE=AT YEE G0

(4) A Fea A

i

Options:

61547519061, 1
61547519062, 2
61547519063 =
61547519064, 4

Question Number : 142 Question 1d : 6154754887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T ST =1 S=dmrE 499 9] 35 & e AR ¢

(1) =T AT T == ATEL

(2) quit qTS! gam o= =mad el

(3) FTH FTATGHE e ==4l.

(4) FA=A =T BEmiiE fa=am aasa JeEsd.

Options:

61547519065, 1
61547519066, 2
61547519067, 5
61547519068, 4

Question Number : 143 Question Id : 6154754888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) ST ST {31 SRAETAEES TUaE TWes 9 SHIE JAFFEE G 9998

(2) T TEeAs Foe ANSIANS]

(3) fore] FTEeaTs GedETa] G 2T

(4) T HEE SR T
Options:

615475130649 1

61547513070, 2

61547519071, 3

61547513072, 4

Question Number : 144 Question Id ;: 6154754889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3 —SAHIST FETE FEAS] FE0, SR SIS =99 FES S I S 20T $Y 0 ?

=

(1) T3-S Few T=991,

(2)  FR-ZHST FHIET SEY]

(3) A=A BT AT 9 SUH=AT 29T 98] AG9E ATEIS

(4)  ECEEIEA G2 FE U

Options:

61547519073, 1
615475139074 2
61547519075 2
61547519076 4

Question Number : 145 Question 1d : 6154754890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘T2e TSE AW HH & Tede AR

(1) FTeed] THa=aTaT ARTATESI

(2) OaaH tHa=EE =Y SqEraEs

-

(3) T S IEoeT AR a1 TE J TIErE

(4) qTHeRT=1 FH1d Jed 59 HUAEa

Options:



BE1547513077. 1
61547513078, 2
51547513073, 3
61547513050, 4

Sub-Section Number: 3
Sub-Section 1d: 615475217
Question Shuffling Allowed : Yes

Question Id : 6154754891 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension

T=AT: YIS 3arT=iis T 39 &,

afodMT ARATE 2% SNEl. TH Ut 2% oFle. &Y AMIATE J0E 28135 S, FJE-FAT=R

=,

FOR %y OO GFGL. & g 9 FOMHE 99 A=A T0EAd 31, aEmedaHl FEoel oad. aiod,

3Uled OE ST BRI 39T TRl AHEGEH s T9d UF Sl Agdae [Y e

SHTS]. AT Fieha] JUR S, AEHHTe SiYETT TeH U3 enlel. EUEs Faim weear S

et qum Swe A = FisasarE e 95 SEvEE We &% ool a1 9 2Esad S

AP T cfod FIUEE AR, HAINH, FAeodl FARAE G Gloaredl Sabasl @R, E=nefi-

Z2O GEFET AT A= FEREie GodH T6R Gool dAe, SNTEE A SERE S0 AR,

Farfeg ET SierEs Zfeart et FAHd #@. e Zfed W WEY WS @ S,

= TTeh] BEHETR S99 Ale. WA HAfded AT Y98 AR, Sfod difEd TN T

TFd T, AT . G FFgs e, SN FH3 - 16 Fed W@ 2rad. S-S 905 =]

=1 qgd TSdId, AFTHFAEREAl S8 HA0 2. Glod e U Slediedl 95l 3R, JaEl

FEN AT ST AEERGE AR SR, Sield Afecd 20 S5l ae=re e, afod difedd T

TS Fdl, AFaadE, [EHEE J% A, afdd Oied T2 JerdEaHl, Teca =l AET]

IGNEE] el HaAEl Es FEEE AR, diod HWied AvedEtdel TR Sd AT o

r

ST g 98 F%A [F58 TFAd.

Sub questions

Question Number : 146 Question Id : 6154754892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



@AM FAAE AATERE FTH] &g FAES] SRS, TR 7

(1)  3Uiera AIoET=1 SF0ar= =0 9% Ao,

(2)  SETUIEEBEAT ZFEE R HE A

(3)  FHEUTHIG FAE FATHRE] oy 359 FA0G=1 90 3. AR Gl

(4)  SfodHl ATEE Hvd FTREHE G5 Sl
Options:
61547519081, 1
61547519082, 2
61547519083, 3
61547519084 4

Question Number : 147 Question 1d : 6154754893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e S STTET TS U0, Sl 19 auEua, A Eearas Gl IaE HUATs Afed ]
(1) -
(2)  HUEIIE AR

(3) AMaaER] FErEi=T AT

(4) =i TEHEE AESFEI= SEEMES HE

Options:

51547519085, 1
61547519086, 2
615475190387, 2
615475190288 4

Question Number : 148 Question Id : 6154754894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



afed TfEcaT=ar 9 = Gaigsd Jeyy g = -

(1) ST THEEii= sWaEy Ad

(2)  AEUTEAT AGFERIAE I TE A gEtEEe g

(3) FAee OIS T3 FHA F0
(4) R SERE T e

Options:

1547519089, 1
61547519090 2
61547519091, =
61547519092 4

Question Number : 149 Question 1d : 6154754895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=fod AT e auTddr FId H1E 7

(1) TETEI=AT g3 Harea] AT

(2)  HIHE, AYTL=AT &A1 80T

(3) TSIl SNl FUAT

(4) T JFadal F0AT

Options:

51547519093, 1
61547519094 2
£1547519095 =2
61547519096, 4

Question Number : 150 Question Id : 6154754896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- - o Y e =
alead ATEcATdle (=gardl HiHdl Fdd 2rd ¢

(1) BE| AIGE

(3)  FHEEI (4) == EA

Options:

61547519097, 1
£1547519038. 2
61547519099, 5
61547519100 4

Question Id : 6154754891 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehension

H=1: [EIe SaraEiie = 3ad .

EfodHl AATEE B35 aFel. TH T 2% ofe. s AMIATE A9 8035 SFel, T -FA=N

=,

FMHT Ty 99 @FG. B g 9% FAME GG ATAT TEFEGd 31, aEEEd Thadl 5Ed. gied,

3TeAT TIVE SETATEAT EFETES 39T TES]. ACHETAEH GiEe] YA 0 Srel. AEss 99 A6

SHTG]. A=A Jihd] dUTE SFTel, AEmHs SiYaT 9 0% Sl EUEE Hai s S

el Uy SrTen AT 1 Sz (Hale] G SEvAEl IE 2 arel. J1 96 ssdd 3
ABETAE T Flod JUEES AR, FAIHM, Adeedl FINUAH 7% Slededl Jauae e, F=nfi-

™ i | [

Zeoft GIEE A e ErEiien sfedHl TR Boer dr. EihaEy= i SEE A,

Ffee AT T SiodHl el Fid 8. e Sfed Oifec WY WmE S SR,

AT TR FSEHER S Ale, AVEE Alded AGETR Y48 AR, Siod e T TaHia

qad FAUH AT T8, S AES AR, SAHE FHI-GAEA] siiel o W 2dTd. - FA9A5=]

SIS qgd USdid. THIgFdEseAl s HA 2. Glod diacd U Slodiedl Sl 3R, e

F:;E[‘EI SATOT SUTeTT= I F;:F-'ua UeITi ¢:|_|_E' aedd o %_E’J IQUE: TS AT ~5‘|_|% slesd [i.v.'l'a r‘r.fﬂlg

TSI Gadl, AFaaEE, [HEE J6 Ak, afdad a0 9eMEaHl, HecHl JE]

IGRES Food Haa sEE FERIERE AR, Gfed e Seraiel TER S AT Jord

RN G 58 F84 [958 T,

Sub questions



Question Number : 146 Question Id : 6154754892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
f@EaH FTAE AAER TR &g FaAES] SRS, TR 7

(1)  3UidTd A= S0 =40 g% 0.

(2) SETUATEA AT 21 JET9 J% e,

(3) FEATHATTT S AR oy, 350 TG 995 31, aaETeaH G,
(4)  EioaH AETNE =9 ST GET Fol.
Options:

51547513051, 1
61547513082, 2
E1547513083. 3
61547513054, 4

Question Number : 147 Question Id : 6154754893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qETHE SYFI FSE UUAH, ST 19 JUEua, SeiEearae 9] YA HUATs SfedEl

(3) THEaETE = dea

(4) =T, dEETEs A=A SEHEdie

Options:

61547519085, 1
61547519086, 2
615475190387, 5
61547519088, 4

Question Number : 148 Question Id : 6154754894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



afed TfEcaT=ar 9 = Gaigsd Jeyy g = -

(1) ST THEEii= sWaEy Ad

(2)  AEUTEAT AGFERIAE I TE A gEtEEe g

(3) FAee OIS T3 FHA F0
(4) R SERE T e

Options:

1547519089, 1
61547519090 2
61547519091, =
61547519092 4

Question Number : 149 Question 1d : 6154754895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=fod AT e auTddr FId H1E 7

(1) TETEI=AT g3 Harea] AT

(2)  HIHE, AYTL=AT &A1 80T

(3) TSIl SNl FUAT

(4) T JFadal F0AT

Options:

51547519093, 1
61547519094 2
£1547519095 =2
61547519096, 4

Question Number : 150 Question Id : 6154754896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(3) P IEE R

Options:

61547519097, 1
£1547519038. 2
61547519099, 5
61547519100 4



